5.3

. (Da-b=3,axb=(5,1,7);
(2)( -2a) -3b=-18, ax2b=(10, 2, 14);

(3)cos(a. b) _ /21
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5. |F,| - xsing, = |F,| - x,sing,.
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6. 3
7. A =2pu.
. . . . — = =
8. WR.LR O, r2A2, AB NREAE, C 2B E—xi, HFIENEEAC - BC =0, &0C

=(x, 7)), WIOCI” = +y* =, AC=0C - 04 = (x +1, y)
BC:O—é—a?):(x—r,y),A—C)'%z(x+r)(x—r) +y =" -1 4y =0,}J\ﬁﬁRJ_BC.
9. (1) -8j-24k; (2) —j—k; (3)2.
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10. 12,
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a, a, a,
. a, a, a, a, a, a,
11. JF#: (axb) - ¢ =c, - -c, s =|b, b, b |=(bxc)-a.
y z x F4 X y
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[FRER )7 AT LIER (a xb) - ¢ =(c xa) + b,
FEZ(axb) -c=(bxc) ra=(cxa) +b.

12. V=y2(2,1,1).

13. A3t

14. . S a=(a,, a,, a;), b=(b,, b,, b;),

Flf lal|b|=a-b, ﬁ%«/alz+a22+a32«/b12+b22+b322‘albl+a2b2+a3b3‘,

B H ALY £ (a, b) =0 Bl (ay, ay, a3) =A(b,, by, by) (A eR), a, b L4,




